

## PCC Expenses June – November 2023

Date	Expense Type	Justification	Distance	Mileage Rate	Reimbursable Amount
04-Jul-23	Mileage	Work to Talk to Cromer Probus	32	0.45	£14.40
04-Jul-23	Mileage	From Talk to Cromer Probus to home	18	0.45	£8.10
26-Jul-23	Mileage	Talk to Wroxham Probus	25	0.45	£11.25
26-Jul-23	Mileage	Talk to Wroxham Probus to Broadland & S Norfolk DC – Mental Health	8	0.45	£3.60
26-Jul-23	Mileage	Broadland & S Norfolk DC – Mental Health to home	26	0.45	£11.70
07-Aug-23	Mileage	Norfolk County Council cabinet meeting and return	58	0.45	£26.10
16-Aug-23	Mileage	APCC Transparency & Ethics portfolio meeting and return	44	0.45	£19.80
16-Aug-23	Train fare	APCC Transparency & Ethics portfolio meeting Norwich to London return	N/A	N/A	£47.50
16-Aug-23	Tube Fare	APCC Transparency & Ethics portfolio meeting	N/A	N/A	£5.00
16-Aug-23	Parking	APCC Transparency & Ethics portfolio meeting	N/A	N/A	£12.00
31-Aug-23	Mileage	Coroner's Court for Right Care Right Person consultation and return	58	0.45	£26.10
01-Sep-23	Mileage	Police and Crime Panel and return	58	0.45	£26.10
05-Sep-23	Mileage	To Surgery at Wymondham Library then on to OPCCN office	28	0.45	£12.60
05-Sep-23	Parking	Surgery at Wymondham Library	N/A	N/A	£1.25

Date	Expense Type	Justification	Distance	Mileage Rate	Reimbursable Amount
06-Sep-23	Mileage	To Excellence in Blue light Conference	122	0.45	£54.90
07-Sep-23	Mileage	From Excellence in Blue Light Conference	122	0.45	£54.90
08-Sep-23	Mileage	Surgery and visit to SNT Cromer and return	36	0.45	£16.20
20-Sep-23	Mileage	Surgery Costessey Library and return	38	0.45	£17.10
26-Sep-23	Mileage	Visit to Norfolk and Suffolk Victims Care and return	44	0.45	£19.80
28-Sep-23	Mileage	Visit to Broads Beat and return	52	0.45	£23.40
29-Sep-23	Mileage	North Norfolk road safety meeting and return	50	0.45	£22.50
30-Sep-23	Mileage	Black History Month event in the Forum and return	42	0.45	£18.90
30-Sep-23	Parking	Black History Event in the Forum	N/A	N/A	£8.00
02-Oct-23	Mileage	To West Norfolk Community meeting and return	62	0.45	£27.90
04-Oct-23	Mileage	To Norfolk & Suffolk Collaboration meeting	44	0.45	£19.80
04-Oct-23	Mileage	Norfolk & Suffolk Collaboration meeting to OPCCN	22	0.45	£9.90
05-Oct-23	Mileage	Constabulary awards ceremony and return	48	0.45	£21.60
06-Oct-23	Mileage	Public surgery in Norwich Library Meeting with Norwich retailers and return	42	0.45	£18.90
06-Oct-23	Parking	Public surgery in Norwich Library Meeting with Norwich retailers	N/A	N/A	£15.40
11-Oct-23	Mileage	Media Interview at the Forum & Livestock Market meeting at City Hall and return	42	0.45	£18.90
11-Oct-23	Parking	Media Interview at the Forum & Livestock Market meeting at City Hall	N/A	N/A	£6.60
18-Oct-23	Mileage	RAPT Speed Campaign and return	52	0.45	£23.40
19-Oct-23	Mileage	To train station for APCC RASSO Workshop London and return	44	0.45	£19.80
19-Oct-23	Rail Travel	APCC RASSO Workshop London	N/A	N/A	£20.00
19-Oct-23	Rail Travel	APCC RASSO Workshop London (Tube)	N/A	N/A	£5.00

Date	Expense Type	Justification	Distance	Mileage Rate	Reimbursable Amount
24-Oct-23	Mileage	Visit to LBGTQ+ Project and return	44	0.45	£19.80
24-Oct-23	Parking	Visit to LBGTQ+ Project	N/A	N/A	£3.80
25-Oct-23	Mileage	Visit to Great Yarmouth Police Station & Public Surgery in Great Yarmouth Library and return	83	0.45	£37.35
30-Oct-23	Mileage	Police and Crime Panel and return	58	0.45	£26.10
31-Oct-23	Mileage	Meeting with Leader & CEO Norfolk County Council and return	58	0.45	£26.10
01-Nov-23	Mileage	Talk to East Coast College and return	104	0.45	£46.80
07-Nov-23	Mileage	Visit to Ben Burgess re agricultural crime and return	22	0.45	£9.90
09-Nov-23	Mileage	Community Chaplaincy Norfolk AGM and return	42	0.45	£18.90
09-Nov-23	Parking	Community Chaplaincy Norfolk AGM	N/A	N/A	£5.20
13-Nov-23	Mileage	To Public surgery Thetford Library	36	0.45	£16.20
13-Nov-23	Mileage	From Public Surgery Thetford Library to CEO Breckland District Council	24	0.45	£10.80
13-Nov-23	Mileage	Return from CEO Breckland District Council	13	0.45	£5.85
14-Nov-23	Mileage	To train station for APCC-NPCC Summit London	22	0.45	£9.90
14-Nov-23	Rail Travel	APCC-NPCC Summit London	N/A	N/A	£43.40
14-Nov-23	Rail Travel	APCC-NPCC Summit London (Tube)	N/A	N/A	£2.50
14-Nov-23	Subsistence	APCC-NPCC Summit London	N/A	N/A	£30.00
14-Nov-23	Accommodation	APCC-NPCC Summit London	N/A	N/A	£189.00
14-Nov-23	Rail Travel	APCC-NPCC Summit London (Tube)	N/A	N/A	£10.00
15-Nov-23	Subsistence	APCC-NPCC Summit London	N/A	N/A	£30.00
15-Nov-23	Accommodation	APCC-NPCC Summit London	N/A	N/A	£189.00
16-Nov-23	Mileage	Return from train station from APCC-NPCC Summit London	22	0.45	£9.90

Date	Expense Type	Justification	Distance	Mileage Rate	Reimbursable Amount
16-Nov-23	Rail Travel	APCC-NPCC Summit London (Tube)	N/A	N/A	£5.00
17-Nov-23	Mileage	Visit to Purfleet Trust and return	58	0.45	£26.10